
ASSEMBLY INSTRUCTION
ITEM NO.: N719P234579-N719P234580-N719P234581

Page 1 of 8



N719P234579 - COMPONENT LIST

No

D

Description

Right Chaise Body

Right Back Cushion

Pillow

Left Armrest

N719P234580 - COMPONENT LIST
No Description

Left Chaise Body

Long Backrest

Short Backrest

Pillow

Left Back Cushion

Round Leg

Square Leg

Wheels

Bolt 5/16"X50mm
Bolt 1/4"X20mm

Allen Key

N719P234581 - COMPONENT LIST

No DRAWING

Right Armrest

Loveseat Body
Q'ty

1PC

1PC

Page 2 of 8

DRAWING Q'ty

1 PC

DRAWING Q'ty

1 PC

1 PC

2 PCS

1 PC

1 PC

2 PCS

2 PCS

1 PC

14 PCS

4 PCS

4 PCS

8 PCS

8 PCS

1 PC

I

J

A

B

K

H

J

Q

F

L

P

M

N

O

ASSEMBLY INSTRUCTION
ITEM NO.: N719P234579-N719P234580-N719P234581

C

G

Description

Middle Back Cushion 2 PCSR



J

J

J

J

R
K

Q

C
H

D

I
G

H

B

A

F
L

M

O

A B C D F G H

Left Armrest
X1PC

Q

Left Chaise
Body

X1PC

J

Loveseat Body

X1PC

K

Right Chaise
Body
X1PC

L

Round Legs
X14 PCS

M

Right Armrest
X1PC

N

Short Backrest
X2 PCS

O P

 Left Back Cushion

X1 PC

Pillow
X4 PCS X1PC

Square Leg
X4 PCS

Bolt 5/16"X50mm Bolt 1/4"X20mm
X 8PCS X8 PCS

Allen Key
X1 PC Page 3 of 8X4 PCS

Wheels

ASSEMBLY INSTRUCTION
ITEM NO.: N719P234579-N719P234580-N719P234581

Long Backrest

STEP 1

R

I

Right Back Cushion

X1 PC

R

Middle Back Cushion

X2 PCS



STEP 2

C

P

O

N

DSTEP 3

B

I

R

G
K

H

F
J

Q
J

H

R

Page 4 of 8

ASSEMBLY INSTRUCTION
ITEM NO.: N719P234579-N719P234580-N719P234581

Open the cap of the B
Take out the F, Q, J, J, H, H, K

Open the cap of the D
Take out the G, R, R, I, J, J

J

J



STEP 4

H

D
H

B

STEP 5

H

D

K

C

Page 5 of 8

ASSEMBLY INSTRUCTION
ITEM NO.: N719P234579-N719P234580-N719P234581



STEP 6

STEP 7

A

G

Page 6 of 8

ASSEMBLY INSTRUCTION
ITEM NO.: N719P234579-N719P234580-N719P234581



STEP 8

I

STEP 9
J

J

J

J

Page 7of 8

ASSEMBLY INSTRUCTION
ITEM NO.: N719P234579-N719P234580-N719P234581



STEP 10

Page 8 of 8

ASSEMBLY INSTRUCTION
ITEM NO.: N719P234579-N719P234580-N719P234581


